Structural edits

Identification

1. SRNO should not duplicate within one district
2. If ENURSL =1 then section A and section 1<>blank
3. If ENURSL <> 1 then the whole questionnaire = blank
Section 1
1. 1f Q118 =<3 then sec 2 = blank
If Sec 2 = blank then Q118<=3
Section 2
1. 1f Q118>=4 and at least one record (A4=2 and 18=<A6=<60) then section 2
(Q225-Q228)<>blank
2. If section 2 (Q225-Q228)<> blank then Q118>=4 and at least one record (A4=2
and (18=< A6 =< 60) in section A
3. If A4 =2 and 18=<A6=<60 then sec2 (Q225-Q228)<> blank and Q118>3 or if
not sec2(Q225-Q228) = blank
4. If WRL =2 or 3 then Q225:Q228 = blank
If Q225:Q228 = blank then WRL =2 or 3
5. If WRL =1 then Q225:Q228<> blank
If Q225:Q228 <> blank then WRL =1
6. If Q227 = 3 then go to next person or to section 3



Section 3

1. If at least one record (5=< A6 =>14) in sec A then ENO (sec3) <>blank
If ENO (sec3) <>blank then at least one record (5=< A6 =>14) in sec A

2. No. of persons (5=<A6=<14 ) = No. of columns of ENO and check whether
ELN=relevant A

3. 11 Q301 =1 then check A5d, A5m, A5y in (secA) whether these children were
born on or before 31.01.2001. and 5 =<A6 =<15 in secA

4. 1f Q 301 = 1 then check A5d,A5m,A5y in secA whether these children were born
on or after 01.02.2001 and A6 (secA) =5

5. 1f Q301 = 4 then go to next person or to section 4

6. If Q305 =98 then go to next person or to section 4

7. 11 Q 302 =01 then Q 303 = blank
If Q303 = blank then Q302 =01

8. 1f Q304 = 2006 then Q 302 =01

Section 4

1. 1f 15=< A6=<24 then LNO (sec4) <> blank
If LNO (sec4) <> blank then at least one record 15=< A6=<24 in sec A

2. No. of persons (15=<A6=<24) in sec A = No of columns of LNO and check
Whether LLN = relevant Al

3. If LRL =3 or 4 then section 4 should be blank for relevant LNO

Section 5

1. No. of cases of TNO in sec 5= No. of cases of Q401=2 or 3
2. If TRL = 3 or 4 then section 5 should be blank for relevant TNO

3. 1f Q501 =1 or 4 or 5 or 6 then go to next person or to section 6

4. 1504 =2 then go to next person or to section 6



Section 6
1. No. of LNO (sec 4)=no. of ADNO (Sec 6)
2. If ADRL =2 or 3 then section 6 should be blank for relevant ADNO

3. I1fQ 601 = 2 then go to next person or to section 7

Section 7
1. If Q714 =2 or 3 then go to section 8
2. 1f Q715 =2 then go to section 8
3. If Q717 =2 or 3 then go to next person or section 8

4. No. of nets(Q706) = No. of columns MNO

Imputations

1. 1fQ118=4,5,6,7 and Q221 <> no. of persons in Al then assign the Q201 =
Number of persons in Al (1-30)

2. If 5=<A6=<14and A10=1and Q301 <>3, assign Q301 =3

3. If15=<A6=<24and A10 =1 and Q401 <>3, assign Q401 =3



